



St. Louis County, Minnesota

Date of Report: 12/14/2025 2:18:25 PM

**General Details** 

 Parcel ID:
 270-0020-00150

 Document:
 Torrens - 809622

 Document Date:
 08/25/2005

**Legal Description Details** 

Plat Name: BREITUNG

Section Township Range Lot Block

1 62 15 -

Description: LOT 11 EX THAT PART OF ELY 250 FT THAT LIES S OF THE FOLLOWING DESCRIBED LINE COMM AT E1/4

COR OF SEC 1 THENCE S03DEG03'53"W ALONG E LINE OF SEC 1 2031.48 FT TO PT OF BEG THENCE S86DEG56'07"W 250 FT TO W LINE OF ELY 250 FT & THERE TERMINATING & EX THAT PART OF WLY 250 FT OF ELY 500 FT OF LOT 11 THAT LIES SLY OF THE FOLLOWING DESCRIBED LINE COMM AT E1/4 COR OF SEC 1 THENCE S03DEG03'53"E ALONG E LINE OF SEC 1 2122.10 FT TO PT OF BEG THENCE S86DEG 56'07"W 500 FT TO W LINE OF ELY 500 FT & THERE TERMINATING & EX THAT PART OF WLY 250FT OF ELY 750 FT OF LOT 11 THAT LIES SLY OF THE FOLLOWING DESCRIBED LINE COMM AT E1/4 COR OF SEC 1 THENCE S03DEG03'53"E ALONG E LINE OF SEC 1 2122.10 FT TO PT OF BEG THENCE S86DEG 56'07"W 750

FT TO W LINE OF ELY 750 FT & THERE TERMINATING

**Taxpayer Details** 

Taxpayer Name KULTALA KENNETH & KULTALA WAYNE

and Address: PO BOX 26

SOUDAN MN 55782

**Owner Details** 

Owner Name KULTALA KENNETH L
Owner Name KULTALA WAYNE D

Payable 2025 Tax Summary

2025 - Net Tax \$5,211.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$5,296.00

**Current Tax Due (as of 12/13/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,648.00	2025 - 2nd Half Tax	\$2,648.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$2,648.00	2025 - 2nd Half Tax Paid	\$2,648.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: 4745 LAKE VERMILION N, TOWER MN

School District: 2142
Tax Increment District: Property/Homesteader: -

	Assessment Details (2025 Payable 2026)												
Class Code (Legend)													
151	0 - Non Homestead	\$211,800	\$271,300	\$483,100	\$0	\$0	-						
111	0 - Non Homestead	\$43,300	\$0	\$43,300	\$0	\$0	-						
	Total: \$255,100 \$271,300 \$526,400 \$0 \$0 5264												





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:18:25 PM

**Land Details** 

Deeded Acres:21.15Waterfront:VERMILIONWater Front Feet:985.00Water Code & Desc:-Gas Code & Desc:-

 Sewer Code & Desc:

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

	Improvement 1 Details (CABIN)										
lmp	provement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	HOUSE	1989	91	5	1,014	=	LOG - LOG				
	Segment	Story	Width	Length	Area	Founda	ntion				
	BAS	1	9	11	99	POST ON G	GROUND				
	BAS	1	13	18	234	POST ON G	GROUND				
	BAS	1	16	24	384	POST ON G	GROUND				
	BAS	1.5	11	18	198	POST ON G	GROUND				
	DK	1	5	9	45	POST ON G	GROUND				
	DK	1	7	34	238	POST ON G	GROUND				
	DK	1	9	12	108	POST ON G	GROUND				
	OP	1	5	34	170	POST ON G	GROUND				
	OP	1	9	16	144	POST ON G	GROUND				
	Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC				
	0.0 BATHS	3 BEDROOM	<b>MS</b>	-		-	STOVE/SPCE, WOOD				

Improvement 2 Details (STORAGE)										
Improvement Type	Year Built	Main Floo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	1989	320	)	320	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				

Segment Story		Width	Length	Area	Foundation
BAS 1		16	20	320	POST ON GROUND
		Improve	ment 3 Deta	ils (SAUNA)	

		-				
mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
SAUNA	1989	150	0	150	-	-
Segment	Story	Width	Length	Area	Foundati	ion
BAS	1	10	15	150	FLOATING	SLAB
OPX	1	6	15	90	POST ON GR	ROUND

			Improver	ment 4 De	etails (GARAGE)		
ı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	GARAGE	2002	86	4	1,728	-	DETACHED
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	2	24	36	864	FLOATING	SLAB
	DKX	1	4	24	96	POST ON GF	ROUND
	LT	1	16	27	432	POST ON GF	ROUND
	LT	1	16	36	576	POST ON GF	ROUND





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:18:25 PM

	In	nprovemo	ent 5 Deta	nils (WOOD SH	IED)	
Improvement Type	Year Built	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	48	oor Ft ²	Gross Area Ft <sup>2</sup> 48	-	-
Segment					Foundation	on
BAS	1	6	<b></b> 8	48	POST ON GR	
LT	1	4	8	32	POST ON GR	
			•			
<u> </u>		-		ails (WOODSH	•	
Improvement Type	Year Built		oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	2019	48		480		-
Segment	Story	Width	Length		Foundation	
BAS	1	20	24	480	POST ON GR	OUND
	In	nproveme	ent 7 Deta	ils (BOATHOU	JSE)	
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
BOAT HOUSE	1973	26	60	260	-	-
Segment	Story	Width	Length	Area	Foundation	
BAS	1	13	20	260	POST ON GR	OUND
Bath Count	Bedroom Cour	it	Room (	Count	Fireplace Count	HVAC
-	-		- 	-ile (DOAT DO	- .D.T.\	
		-		ails (BOAT PO	•	0.1.0.1.0.0
Improvement Type	Year Built		oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
BOAT PORT	0	34		340	-	-
Segment	Story	Width			Foundation	
BAS	1 	17	20	340	POST ON GR	OUND
		Improv	ement 9 [	Details (CABIN	)	
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	1958	51	6	516	-	CAB - CABIN
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	7	12	84	POST ON GR	OUND
BAS	1	18	24	432	POST ON GR	OUND
DK	1	0	0	27	POST ON GR	OUND
DK	1	0	0	168	POST ON GR	OUND
Bath Count	Bedroom Cour	ıt	Room (	Count	Fireplace Count	HVAC
0.0 BATHS	2 BEDROOMS		-		- S	TOVE/SPCE, WOOD
		Improve	ment 10 [	Details (SAUN	A)	
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
SAUNA	0	16	60	160	<u>-</u>	
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	10	16	160	POST ON GR	OUND
OPX	1	6	16	96	POST ON GR	OUND
		mproven	nent 11 De	etails (SLEEPE	ER)	
Improvement Type	Year Built	Main Fl	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
SLEEPER	0	12	20	120	-	-
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	10	12	120	POST ON GR	OUND
LT	1	4	10	40	POST ON GR	OUND





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:18:25 PM

Improvement 12 Details (GAZEBO)												
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & De												
GAZEBO	0	22	4	224	-	=						
Segment	Story	Width	Length	Area	Foundat	ion						
BAS	1	14	16	224	POST ON G	ROUND						
DKX	1	5	23	115	POST ON GROUND							
DKX	1	9	16	144	POST ON G	ROUND						

#### Sales Reported to the St. Louis County Auditor

No Sales information reported.

		A	ssessment Histo	ory			
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Det Bldg EM	g Net Tax
	151	\$190,500	\$227,900	\$418,400	\$0	\$0	-
2024 Payable 2025	111	\$37,900	\$0	\$37,900	\$0	\$0	-
·	Total	\$228,400	\$227,900	\$456,300	\$0	\$0	4,563.00
	151	\$182,800	\$217,000	\$399,800	\$0	\$0	-
2023 Payable 2024	111	\$36,200	\$0	\$36,200	\$0	\$0	-
	Total	\$219,000	\$217,000	\$436,000	\$0	\$0	4,360.00
	151	\$182,800	\$217,000	\$399,800	\$0	\$0	-
2022 Payable 2023	111	\$36,200	\$0	\$36,200	\$0	\$0	-
	Total	\$219,000	\$217,000	\$436,000	\$0	\$0	4,360.00
	151	\$175,200	\$217,000	\$392,200	\$0	\$0	-
2021 Payable 2022	111	\$34,400	\$0	\$34,400	\$0	\$0	-
	Total	\$209,600	\$217,000	\$426,600	\$0	\$0	4,266.00
		1	Tax Detail Histor	у			·
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV		Total Taxable MV
2024	\$5,063.00	\$85.00	\$5,148.00	\$219,000	\$217,000	0	\$436,000
2023	\$5,351.00	\$85.00	\$5,436.00	\$219,000	\$217,000	0	\$436,000

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.

\$6,122.00

\$209,600

\$217,000

2022

\$6,037.00

\$85.00

\$426,600